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Unit 2 — Answers: Place value practical problems
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Answers

Starting number Rule
a 797 897
b. 108,247 | 118,47
c 59,850 | 58,850
d. - 5 -5

Starting number Rule
a +1000”
b. 4-10,000"
@ - E o

a. | The rule is “+50" and the numbers should be 950 1000 1050 1100
b. | The rule is “+1000’ and the numbers should be 8670 9670 10,670 11,670
c. | The rule is ~20’ and the numbers should be 40 20 0 -20 -40

i. | New (noon) temperature = -7 + 10 = (+) 3°C [counting down through zero]

ii. | Drawn 3 units to the right of 0°C.

New temperature = -6 + 15 = (+) 9°C
Fall = 11 - (3) = 14°C_[counting down through zero]
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